
https://www.passapply.com/000-597.html
2021 Latest passapply 000-597 PDF and VCE dumps Download

 

 

 

000-597Q&As

IBM TRIRIGA Application Platform V3.2.1 Application Development

Pass IBM 000-597 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/000-597.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest 000-597 Dumps | 000-597 VCE Dumps | 000-597 Study Guide                                1 / 4

https://www.passapply.com/000-597.html
https://www.passapply.com/000-597.html
https://www.passapply.com/000-597.html


https://www.passapply.com/000-597.html
2021 Latest passapply 000-597 PDF and VCE dumps Download

QUESTION 1

Which statement is true about a switch task? 

A. The square is always the true side and always on the left. 

B. The square is always the false side and always on the left. 

C. The square is always the true side and can be on either the left or right. 

D. The square is always the false side and can be on either the left or right. 

Correct Answer: D 

 

QUESTION 2

Which workflow task can create an association? 

A. Trigger Action 

B. Modify Records 

C. Modify Metadata 

D. Retrieve Records 

Correct Answer: B 

 

QUESTION 3

An extended formula can be created for which two data types? (Choose two.) 

A. Text 

B. Date 

C. Number 

D. Boolean 

E. Classification 

Correct Answer: BC 

 

QUESTION 4

Business objects are created using which tool? 

A. Form Builder 

Latest 000-597 Dumps | 000-597 VCE Dumps | 000-597 Study Guide                                2 / 4

https://www.passapply.com/000-597.html
https://www.passapply.com/000-597.html
https://www.passapply.com/000-597.html


https://www.passapply.com/000-597.html
2021 Latest passapply 000-597 PDF and VCE dumps Download

B. Data Modeler 

C. Data Integrator 

D. Association Manager 

Correct Answer: B 

 

QUESTION 5

Which workflow type will be a Pre-Create workflow? 

A. Subflow 

B. System 

C. Synchronous 

D. Asynchronous 

Correct Answer: C 
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